Year 8 Maths Homework 11/10/19  NaMe...cooeceieeieereerersesseereeseessessesnes

Answer all questions. The mark for each answer is shown in brackets.

|. Calculate:
Q) 2+(3)= (1]
b) -4+3= [1]
0 2+(2)-(3)= [2]
d -4+(2= [2]
e 8-(4-6)= [2]
) -5-6+(2= [2]
g 14-CI7)+(9= (2]
h)y -6+(-6)-(-10)= (3]
) SB3-(19+2-3)= (3]

2. In the number walls below, the number on each brick is found by adding the
numbers on the two bricks above. Fill in the gaps.

a) | 2 6 4 b) 4 2 | 3
3 5 | 3 | 5
6+-1=5
4+-1=3
54
[€] [10]
o) | -56 2 | 33| 48
17 T
[10]

Total Marks: 46




